ﬁ g a fRif 53 MR B )
g4 H 3 A/ G
15 1o 1o 1.0 210,272
Q) () SRR
g 1og 14 4.4 410 40 31 34 35 3 5
36 %3) (5)" () "G FRERERIE
25,2y 2y 302,3,2,3) Los, Lo, Ly, Ly
SR EREY ) (5) )53
4 45 446 4 25 2 _ 310 3.6 3
(1)) " CY-GrG) (5@ Q)"
- - 35 35 36 2.5 23
(577 G R T N C P RN e

www.snowmath.com



https://www.snowmath.com

ﬁ ﬁ o ’! fal b7 FdR H (i)

Lsdyo 1o, ly10 2 10,,2\7,,2 -6

(7) (?) (6) (63 (9) (9) (g)
)13 e 2 9
(4) (6) (9)

La sy
GGG

1 g
(5)

20,24,2
BRERE

2 13
(5)

ﬂ.ﬂS.fé.f—lo
(5) (5) (5) (5)

4. s
(g)

1_501_9018012
(5) G *()G)

1 4
(5)

27,2502\
GG

2.5
(7)

EZ. E Se 22. E 6
(8) (8) (8) (8)

315
(g)

www.snowmath.com

31,304, 355,,3 5
(8) (8) (8) (8)

3 7
(g)

Lis. Lo Ly, 1
(9) (9) (9) (9)

19
(5)

310,316, 34
G )

3 20
(g)

z7oz_50%3.%8
(3)2(3) (3)7+(3)

2 13
(g)



https://www.snowmath.com

